8 = 818,838,

g= (aoglaﬂ(algzaz)(azg3a3)(a3g4a4)

where o, and o, are constant maps.

g= (aoglil)(algzﬁz)(a2g363)(a3g464)

where (00g,@,), (0,8,0,) in 1,(U) and
(01,85T3), (038,40, in Ty (V)

g= (aogla_1)(a1gzaz)(a2g363)(aag4a_4)

where (o,g,¢;) in m,(U) and
(0118,00,), (01,850L3), (0L3840L,) in Ty (V)

g= (aog:lal)(a1gzaz)(azg3aa)(a3g4a4)

where (0,8,0;0,8,05) = (01y8,8,05) in T, (U
and (o,g58,01,) in (V)

g= (aoglal)(algzaz)(azgsa3)(a3g4a_4)

where (o,g,0;) in m,(U) and
(algzgsg4a4) in T[l(V)

g= (%8131)([3182072)(0(283073)(0(384074)

where (0,g,B;) in m;(U) and
(B18,83840%,) in 1, (V)

(V) =<a, b> [gly=b
(V) = {e} lgl,=e [g]U vy =€

m(UnV) = <b> [gly,v=b

]

. ."‘Il -r._\ [g]U =b
(U N V) el o x
. I I:' l [g]v=e [gluuv=e

I ‘m['['] [g]UnV=b




